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NEA ESAIYE =& 130,000 50,000 80,000
308 XXX SOIA 130,000 50,000 80,000
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= ,121,183
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= ,121,183
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01 NXSHMISEXS 100,000 100,000 0
O8aHd MeldlE &4 100,000
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= 319,900
202 Oddl 3,000 2,000 1,000
01 =2UWnHI 3,000 2,000 1,000
ORE=23MN B3 - 84 &R =& 3,000
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ST 0,000 10,000 0
odeIEE XI2BY 10,000
307 eIztolH 10,000 10,000 0
02 LRABNBE 10,000 10,000 0
CEEPIIEER R 10,000
2R 2 36,693 35,400 1,293
201 L2yl 30,000 30,000 0
01 AFR2elt] 30,000 30,000 0
023N 2Y 30,000
202 01l 6,693 5,400 1,293
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= 1,000,000
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= 300,000
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= 840,000
& 420,000
01 XXSHHMA2EE 1,260,000 933,000 327,000
ONSAE BEEYI 1,260,000
= 840,000
== 420,000
lgg 2dae(=1) 80,000 80,000 0
= 80,000
308 XXIEHMSOIA 80,000 80,000 0
= 80,000




22X S3u=
HH: 2549 HMAHN BE - MS(2HUBT/25T)
¢ 2otgae] el & J|BrR s (&2 &2
SA - EH .S (BH) - MBAY - B Ofl A o4 gggf; HRS2
01 XXNHHBIAZXZ 80,000 80,000 0
O=2KR33 M Tat2te] 80,000
= 80,000
2N 25 E4HH(21D) 8,876,715 0 8,876,715
= 6,706,000
= 2,170,715
403 XXM SK201H 8,876,715 0 8,876,715
=2 6,706,000
= 2,170,715
01 AXESHA=ESE=X 8,876,715 0 8,876,715
O=2JtXd 23 B3| 8,876,715
= 6,706,000
< 2,170,715
2L 22X 2 Z2AIHAH 2E(2D) 126,000 0 126,000
= 84,000
= 42,000
308 XXIEHXMSOIA 126,000 0 126,000
= 84,000
== 42,000
01 AXNSHHIABELTZ 126,000 0 126,000
O SX23M ZAIE BHXI 126,000
= 84,000
= 42,000
S SE22(=21) 179,928 0 179,928
=2 148,176
& 31,752
308 AXISHXMSOIA 179,928 0 179,928
= 148,176
= 31,752
01 XXNHMBIAEXZ 179,928 0 179,928
ORIINE 21 S22yl N 179,928
= 148,176
T 31,752
SAHA Heldl=e 0t (=21) 11,000 0 11,000
= 11,000




SA: 2a0E D
Ha: 25249 AN BE - HMS(2UILDR/25T)
chol: 25RM0 o] Y JIpIRE (erol:®2)
_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot Hlws2
308 XX EHHSOIH 11,000 0 11,000
= 11,000
01 RXSHAZHSES 11,000 0 11,000
ORINNWSEHM S&HY H2UIE &4 11,000
= 11,000
Ssl HE2s =X 20,000 0 20,000
201 Yoyl 5,000 0 5,000
01 A2zl 5,000 0 5,000
OSSN XZoles X4 5,000
308 XA SHSO0IH 15,000 0 15,000
01 MXESHMINZES 15,000 0 15,000
OIS X2oles X4 15,000
HENZRERNE Haed 5,000 0 5,000
201 Y2yl 5,000 0 5,000
01 ARzl 5,000 0 5,000
ONENE BZESINS 29 5,000
#HSAAY (2302 D) (JIEHIIE) 35,135 31,293 3,842
o= 35,135 31,293 3,842
A2 Il 35,135 31,293 3,842
201 Yoyl 26,015 22,173 3,842
01 A2zl 26,015 21,173 4,842
© 2A2Y ART2IY| 26,015
202 o1l 9,120 9,120 0
01 =L§ofbl 9,120 9,120 0
0 2A2Y UL 9,120




